

# تحريك الرزمة الموجية

## Motion of a Wavepacket

: .wavepacket

$$e^{ikx-i\omega t}$$

( )

$$\omega(k) = \omega(k_0) + (k - k_0) \left( \frac{\partial \omega}{\partial k} \right)_{k=k_0} + \frac{1}{2} (k - k_0)^2 \left( \frac{\partial^2 \omega}{\partial k^2} \right)_{k=k_0} + \dots$$

$$kx - \omega t = k_0 x - \omega(k_0) t + (k - k_0) \left[ x - \left( \frac{\partial \omega}{\partial k} \right)_{k=k_0} t \right] - \frac{1}{2} (k - k_0)^2 \left( \frac{\partial^2 \omega}{\partial k^2} \right)_{k=k_0} t$$

$$\left( \frac{\partial \omega}{\partial k} \right)_{k_0} = v_g$$

$$\left( \frac{\partial^2 \omega}{\partial k^2} \right)_{k_0} = \beta$$

$$g(k) = e^{-k'^2 \alpha}$$

$$k' = k - k_0$$

$$\begin{aligned} \psi(x,t) &= \exp i(k_0 x - \omega(k_0)t) \cdot \int_{-\infty}^{\infty} \exp(-\alpha k'^2) \cdot \exp[ik' (x - v_g t)] \cdot \exp(-ik'^2 \beta t / 2) dk' \\ &= \exp i(k_0 x - \omega(k_0)t) \cdot \int_{-\infty}^{\infty} \exp[ik' (x - v_g t)] \cdot \exp[-k'^2 (\alpha + i\beta t)] \cdot dk' \\ &= \exp i(k_0 x - \omega(k_0)t) \cdot \left( \frac{2\pi}{\alpha + 2i\beta t} \right)^{1/2} \exp[-(x - v_g t)^2 / (2\alpha + 4i\beta t)]. \end{aligned}$$

$$|\psi(x,t)|^2 = \psi^*(x,t)\psi(x,t) = \left( \frac{2\pi}{\sqrt{\alpha^2 + 4\beta^2 t^2}} \right) \exp[-\alpha(x - v_g t)^2 / (\alpha^2 + 4\beta^2 t^2)].$$

$$|\psi(x,0)|^2 = \left( \frac{2\pi}{\alpha} \right) \exp[-x^2 / \alpha].$$

$$x = \sqrt{\alpha}$$

$$\text{Pulse width} = W(0) = 2\sqrt{\alpha}$$

$$\alpha x'^2 = \alpha(x - v_g t)^2 = \alpha^2 + 4\beta^2 t^2$$

$$x' = \sqrt{\alpha} \cdot \sqrt{1 + 4\beta^2 t^2 / \alpha^2}$$

t

$$\text{Pulse width} = W(t) = 2\sqrt{\alpha} \cdot \sqrt{1 + 4\beta^2 t^2 / \alpha^2}$$

( )